UBUNGSKONIG
Nachbarzahlen 9

1. Trage die Nachbarzahlen ein.

Nachbarzehntausender
Vorganger 10 000
Zahl 15 901 34 549 86 454 59 410 45 002 93 267
Nachfolger 20 000
Nachbarhunderter
Vorganger 12 400
Zahl 12 452 1 657 34157 49 052 41 957 37 351
Nachfolger
Nachbartausender
Vorganger 69 000
Zahl 69 764 35 991 91 957 10 291 77 953 24 099
Nachfolger
2. Rechne mit verwandten Aufgaben.
100 + 400 = 120 + 640 =
1000+ 4000 = 1200 + 6400 =

10 000 + 40 000 =

455 + 170 =
4550+ 1700 =
45500 + 17 000 =

12 000 + 64 000 =

234 + 400 =
2340+ 4000 =
23 400 + 40 000 =
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